Miller v. Schoene:  Reading Comprehension Self-Quiz

Correct Answers, Comments & Explanations

Correct answers in bold type; Prof’s comments & explanations in Italics.

(1) When the state of Virginia ordered the landowners in this case to cut down “a large number of ornamental red cedar trees,” the state courts required the state to pay the landowners what form of compensation? 


(a) The value of the standing trees.

(b) The decrease in the market value of their land caused by the removal of the ornamental trees. 

(c) The cost of removing the trees.  On pp. 126-27,  the opinion explicitly says that this is true and that (a) and (b) are not. 

(d) None of the above. 

(2)  Why does the state of Virginia require that landowners cut down certain cedar trees infected with cedar rust?


(a) They might infect other cedar trees.

(b) They might infect apple trees.  On p.127, the Court says that apple trees are harmed by Cedar Rust, but Cedar trees are not, and that apple trees get Cedar Rust from cedar trees. 

(c) Cedar rust harms the aesthetic appearance of the cedar trees.


(d) All of the above.

(3) On what factual difference between Miller and Eubank does the Supreme Court rely when it distinguishes the two cases?

(a) Eubank required 2/3 of the neighboring landowners to act; Miller required just 10.

(b) Eubank addressed a municipal zoning ordinance; Miller addressed a state statute.

(c) In Eubank, government decision-making authority was delegated to a group of neighbors; in Miller, government decision-making authority was exercised by a single public official subject to judicial review.  This is the thrust of the last paragraph on p.128.
(d) In Miller, the state paid for the removal of the trees; in Eubank, the affected landowners received no reimbursement for any losses they incurred.

(4) Which of the following correctly characterizes the meaning of the top paragraph on p.128?

(a) The Court will uphold a state regulation if it determines that the legislature has correctly decided that “one class of property … is of greater value to the public” than another.  The Court does not say that it will independently evaluate the legislature’s decision.
(b) The Court will support on of the parties to a Takings lawsuit if the legislature has decided that the position of that litigant “is of greater value to the public” than that of the other.  The Court addresses situations in which “one class of property” is of greater value than another; it does not discuss litigants’ positions in this way.
(c) A state may not allow “serious injury to [an important industry] within its borders to go on unchecked.”  Nothing in the opinion requires a state to take any particular steps, although the Court suggests it would defer to a state’s decision if the state does act.

(d) None of the above.  
